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ILIM(AY = 18/Rlim(K) = 6A
OV(V) = 1.2+(Rt-+Rm+Rb)/Rb=52.4V

UV(V) = 1.2«(Rt-+Rm+Rb)/(Rm+Rb)=19.8V
Current limit max: 162ms PIg
linrush(A) = Cout/(20800+Cdvdt)=1.75/Cdvdt(nF)=26mA max (open) 24V/240us
Vimon(V) = I(A)*Rimon*0.0800279 —> I(A)=7*Vimon(V)
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RFS: 47k —> IFS=168uA
Mid scale: 38.5V

Range: 29.0V — 48.0V
Power up current = @ —> mid scale
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1.2=Rd/(Rd+Ru)*Vout
Ru/Rd=Vout/1.2—1
Vout=1.2%(1+Ru/Rd)=38.5V sense DAC

Rfb1: 10@k—1M for most applications
Rfb2=1.2/(Vout—1.2)*Rfb1=Rfb1/9
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1.2=Rd/(Rd+Ru)*Vout 1)
Ru/Rd=Vout/1.2-1
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Rfb1: 10@k—1M for most applications
Rfb2=1.2/(Vout—1.2)*Rfb1=Rfb1/9




